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pe|  xxas | oes | BEX OBER | adems | mtess | BAg | ®Res | 2Ips
1 [106102080310005| #EfE | 080300 HFETR 348 162.80 74.32 FEEEFA E=k
2 |104872000134820| & | 080300 HFETR 355 156.20 73.84 FEEEFA E=k
3 |102862230308045| ¥k | 080300 HFETR 352 158.00 73.84 FEE@FL A E=k
4 [102132000000614| H/\#& | 080300 HFETE 339 163.20 73.32 FEEEFA £ HH
5 [144302139000528| f£/x%E | 080300 HFETR 326 160.80 71.28 FEE@FL A E=k
6 |102862323511959| RE/F | 080300 HFETR 305 171.20 70.84 FEE@FL A E=k
7 1102882500015572| R | 080300 HFETR 309 168.60 70.80 FEE@FL A E=k
8 |104872000135331| & | 080300 HFETE 312 166.60 70.76 FEEEFA £ HH
9 |[106102080310128| #BEEFA | 080300 FHFETR 329 155.40 70.56 FEERFLA e=kl
10 [106102080310075| Z=3C#4 | 080300 FHFETR 337 149.80 70.40 FEERFL e=kdl
11 [100072000010528| #EE R | 080300 FHFETR 328 155.00 70.36 FEERFLA e=kl
12 [832662000000026| #hF%& | 080300 FHFETR 327 153.80 70.00 FEERFLA e=kl
13 [102852212625872| 3% | 080300 FHFETR 313 160.00 69.56 FEERFLA e=kdl
14 |100072000010442( FHABA | 080300 HEIR 306 161.80 69.08 FEERELA Ex=k
15 |106142085405788| Z=RL3E | 080300 HF T 321 152.00 68.92 FEEmHEL E=kl
16 |106142085406519| ¥ | 080300 HF T 318 153.60 68.88 FEEmHEL E=kl
17 |100552333308494| EFH7 | 080300 HEIR 300 163.00 68.60 FEERELA Ex=k
18 [106142080305493| AFE | 080300 HEIR 310 155.20 68.24 FEERELA Ex=k
19 |144302139000370 [ E#&JJ | 080300 HEIR 302 158.20 67.88 FEERELA Ex=k
20 |144302140000149| X% | 080300 HEIRE 302 157.00 67.64 FEERELA Ex=k
21 |106142080324225( [IM&fE | 080300 HEIRE 301 152.80 66.68 FEERELA Ex=k




